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(A) 31 When we were told that no one was hurt, we all breathed a sigh of .
(A)relief (B)rhythm (C)shrink (D)stigma

(A) 32 We do not know much about this topic, which still remains a field for further research.
(A)fertile (B)sterile (C)tedious (D)futile

(C) 33 When our cells are damaged—for instance, by toxins or from the environment—we may experience discomfort
and inflammation.
(A)formation (B)generation (C)radiation (D)reflection

(B) 34 Flora wants to her dream of being a florist, so she majors in gardening in college.
(A)persuade (B)pursue (C)perceive (D)prohibit

(C) 35 He is generally a nice person, but he can sometimes be quite a .
(A)handhold (B)handle (C)handful (D)handsome

(C) 36 Students develop the knowledge and skills to texts for communicating in various contexts.
(A)interact (B)inspire (C)interpret (D)interview

(D) 37 As an immediate response to the earthquake, many emergency and shelters were built by the government.
(A)addictive (B)emotional (C)destructive (D)temporary

(D) 38 We caught a of the man through the window as his car sped past.
(A)gladiator (B)glamour (C)glimmer (D)glimpse

(B) 39 You should homemade juice in 2 hours. Don’t store it for too long.
(A)conguer (B)consume (C)destroy (D)decrease

(B) 40 As your supervisor , you ought to spend more time on something worth researching into.
(A)quarreled (B)advised (C)opposed (D)puzzled

(D) 41 The global economy has shown a general toward inflation and higher unemployment.
(A)expediency (B)adequacy (C)majority (D)tendency

(B) 42 The soldiers under Napoleon’s won the battle against Austria.
(A)demand (B)command (C)development (D)contract

(D) 43 If skills are taught in school, students will know how to save their own lives in the wilderness.
(A)fantasy (B)memorial (C)paradise (D)survival

(D) 44 1 was entrusted to to a local newspaper article analyzing the stock market.
(A)divert (B)relate (C)convert (D)contribute

(C) 45 If two lines are on the same plane, they are at equal distance from each other and will never meet.
(A)generous (B)innocent (C)parallel (D)tolerant

AR N S [EE 55467 2 55505 ¢

Honey is usually described as a sweet food substance. Corbezzolo honey, however, is surprisingly bitter, with notes
of leather, liquorice and smoke. Born in the mountains of the Italian island of Sardinia, this extremely rare honey has a
history that dates back more than 2,000 years.

Corbezzolo honey is obtained from the flowering of the broadleaf corbezzolo shrub, known in English as the
strawberry tree for its reddish-orange, strawberry-sized fruits. Despite the bitterness, it is often added to coffee to
enhance the drink’s bitter aromas. The special taste also makes the honey pair perfectly with seadas, a typical Sardinian
dessert,and pecorino sardo, a sweet sheep’s milk cheese. What makes the bitter honey even more special is that it is
actually packed with nutrients. Rich in vitamins and minerals, it has been prized by many generations in Sardinia,
known for the notably long lifespans of its inhabitants, many of whom live to more than 100 years old. It has been used
in traditional medicine to suppress coughing and bring on sleep. What’s more, a 2019 study found that the honey might
reduce growth of cancer cells.

The corbezzolo’s fruits ripen slowly and the flowers’ petals unfold slowly, a delicate process that a heavy rain can
easily bring to a halt. And because the flowering takes place in late autumn when the weather can be cold, rainy and
windy, the bees sometimes have to struggle to make it out of their hives to collect that precious nectar. The flowers
produce about half as much nectar as other flowers, so the bees have to work-extra hard to collect enough. These factors
make corbezzolo honey so precious that it’s hard to find outside Sardinia.

(C) 46 Which of the following aspects of corbezzolo honey is discussed in the second paragraph ?
(A)Its history and origin. (B)Its making process.
(C)lts benefits and uses. (D)lts potential risks.

(A) 47 According to the passage, which of the following words best describes corbezzolo honey ?
(A)Bitter and rare. (B)Nutritious and cheap.
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(C)Sweet and expensive. (D)Reddish-orange and thick.
(D) 48 What does the word  “notes” in the first paragraph most likely refer to ¢
(A)Plants. (B)Sizes. (C)Forms. (D)Smells.
(B) 49 According to the passage, which of the following plays a role in the bees’  collection of corbezzolo honey ?
(A)Pesticide. (B)Weather. (C)Human activity. (D)Mountain height.
(A) 50 Which of the following statements about corbezzolo honey can be inferred from the passage ?
(A)It could be a secret to longevity. (B)It tastes like a sheep milk cheese.
(C)When properly stored, it can last forever. (D)lt is an iconic food eaten on a daily basis.
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